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	Grammar
	A – 10 marks	Comment by David Boughton: A

a) She had been living in a small apartment for many years before she decided to buy a house.

b) Correct

c) The school not only provides textbooks, but also gives each student a calculator. 

d) These boots were nearly as expensive as the running shoes, but they were on sale, so I paid a little less.

e) Correct

f) Correct

g) Where had she been working before she found her new job?

h) Lucy asked me where I like to walk my dog.  

i) I’m not sure these tables will be large enough for the number of people planning to attend the event.

j) They play soccer not only when it is sunny and warm, but also when it is raining or cold.




1.  Correct the grammar mistakes in these sentences. Some are correct.

a) She had been living in a small apartment for many years before she decided to buy a house.
b) Correct
c) The school not only provides textbooks, but also gives each student a calculator. 
d) These boots were nearly as expensive as the running shoes, but they were on sale, so I paid a little less.
e) Correct
f) Correct
g) Where had she been working before she found her new job?
h) Lucy asked me where I like to walk my dog.  
i) I’m not sure these tables will be large enough for the number of people planning to attend the event.
j) They play soccer not only when it is sunny and warm, but also when it is raining or cold.


	Vocabulary
	K – 10 marks



a) Spooky	Comment by David Boughton: K

  a) Spooky
b) Engagement
c) Fall behind
d) Hold on
e) Break down
f) Blockbuster
g) Inclusion
h) Heritage
i) Soundtrack
j) Cut off

b) Engagement
c) Fall behind
d) Hold on
e) Break down
f) Blockbuster
g) Inclusion
h) Heritage
i) Soundtrack
j) Cut off




	Reading
	K – 4 marks
A – 4 marks
T/I – 2 marks




a) Decide if these statements are true or false. (K 4)	Comment by David Boughton: K 
A 
T/I

a) (K 4)
False
True
False
True

b) (A 2)
Status quo means the same, without changes
Movies and Hollywood are not becoming more diverse.

c) (A 2)
There is a lack of diversity in the directors, so they don’t hire diverse actors.



I. False
II. True
III. False
IV. True

b) In the third paragraph, Dr. Stacy L. Smith says, “Unfortunately, it's largely been the status quo.” What does she mean by this? (A 2)
· Status quo means the same, without changes
· Students should explain how movies and Hollywood are not becoming more diverse.
c) What is the main reason the article gives for why movies are not diverse enough? (A 2)
· There is a lack of diversity in the directors, so they don’t hire diverse actors.
d) Why do you think diversity in movies is important? (T/I 2)



	Listening
	K – 2 marks
A – 4 
T/I – 4 marks	Comment by David Boughton: K 
A
T/I

a) US

b) Points for things like language proficiency, job offer
More points you have the better your chances

c) Canada chooses more skilled immigrants, so Canadians are more welcoming to people who will contribute to society.

d) They can’t find someone in the country to do the job
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a) Which country has a higher percentage of family-based immigration, Canada or the US? (K 1)
· US
b) Explain Canada’s merit-based system using some examples. (A 2)
· Focuses on skilled immigrants
· Points for things like language proficiency, job offer
· More points you have the better your chances
c) What reason does the video give for why Canadians feel more positive than Americans about immigration? (A 2)
· Canada chooses more skilled immigrants, so Canadians are more welcoming to people who will contribute to society.
d) What do employers need to prove before hiring a foreign employee? (K 1)
· They can’t find someone in the country to do the job
e) Which system do you think is better? Use examples from the video in your answer. (T/I 4)
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